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BACHELOR OF SCIENCE (B.Sc.) 

Term-End Examination 

December, 2018 

PHYSICS 

PHE-16 : COMMUNICATION PHYSICS 

Time : 2 hours 	 Maximum Marks : 50 

Note : All questions are compulsory. However, internal 

choices are provided. Use of log tables or 

non-programmable calculators is allowed. Symbols 

have their usual meanings. 

1. Attempt any five parts : 	 5x2=10 

(a) Explain with diagram the following signals : 

periodic, aperiodic, discrete. 

(b) Calculate I for the alphabets of English 

language assuming equal probability of their 

occurrence. 

(c) Depict 10110010 in Manchester code. 

(d) What is the minimum frequency required to 

sample our speech ? 
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(e) What is the role of sync separator in a TV 

receiver ? 

(0 What are the steps involved in 

interchanging data in memory location A 

and memory location B ? 

(g) Draw the labelled I — V characteristics of 

forward biased tunnel diode. 

2. Attempt any two parts : 	 2x5=10 

(a) Define reflection coefficient and VSWR in a 

transmission line. Show S.W. pattern in the 

line with load impedance of Z L  = 0, ZL  = Zo 

 and IL  = co. 

(b) Draw diagram of an optical fibre with core 

and cladding. Show the path of a ray 

incident on core/cladding interface at lower 

and higher than critical angle. 

(c) Explain a typical communication system 

with detailed block diagram. 
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3. Attempt any two parts : 	 2x5=10 

(a) Explain the Armstrong method of frequency 

modulation. 

(b) Explain the time division switching used in 

telephone exchange. 

(c) Explain with a diagram PAM, PWM, PPM 

signals. How are PWM and PPM signals 

generated from PAM ? 

4. Attempt any two parts : 	 2x5=10 

(a) Draw diagram of a parabolic reflector 

antenna. Write the expression for gain and 

directivity. Calculate beam width of 6 m 

diameter antenna at 10 GHz frequency. 

(b) With the help of a diagram explain the 

working of stereophonic FM transmitter. 

(c) Explain the working of an LED with the 

help of band diagram. 
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5. Attempt any two parts : 	 2x5.10 

(a) Explain Von Neumann architecture of a 

computer. Write the function of each 

component. 

(b) Compare OSI and TCP/IP models. 

(c) Explain the characteristics of peer-to-peer 

applications. 

PHE-16 	 4 



I  tft.W.i.-16 

	lzirM (4t.7ff . ) 

TM* xitiTi 

itTrall 2018 

Oft1 	14 

:TiVR VIrde 

?MI :2 Urfa' 
	

3T7Vn" 	: 50 

adz :31ffelTif g I 17?, 317.W 	ehel / 777 

/ fffIT fikPiej 31RT4T aef/77197T 4e54)det7 

w4 *1 saux/M * / Nee * 3T ft/ 411.-g 

34* / 

1. 14).41 	 4114‘ : 	 5x2=10 

() aft *I-  	Ai-ifiZgi 

mrwiT 	  

374-41, apiadf, i=e4w 

NO at* 	i awit of I lifkchfi 4'tNR I 
d11 II f §.14 	-41 miNabal 	t 

(ii) ionoolo 44RK 	Agerff WAR 

Feint aruft 	5A-ciNa AR-4 * 	 •ViC144 

aTraqw aTrifW 14)d-11 il4f1 ? 

PHE-16 	 5 	 P.T.O. 



(v) 	 aTliTgre 	grticbmi ipmbift trittrai 

wrazir*Tztiloit? 

() t411Aggrq A AI *4 , -1:2M4 B i aTkt 

TRI:ER 	 ' 	0-4-04-14 wIr ci111, 

.414 	? 

	

()   * aTTARPM atatm * I— V 

34*--ekifkw 	aft tsfIRR 

2. 	 qt ITA 	 : 
	

2x5=10 

() to:Kul 	* 	tru-4-44 Julia) a& al t-cal 

aTsprrgt wtrr arjEriff (VSWR) 

*tNR I 015 3rW4R0 	o, = zo  

	

aTsrTriiit 	 iiffzR 

s 3T iif 	ANN aic "T mcm 

tsiTR:R wirdw -117r 4 IWIR 	aTilTw Quil 

sr) s-tre4ETR atarivz TR aTtErftff f 	tui 

71* I 

(TI) 	3ftftft tAR oaatql 	 6414) 

3T1 	*t tMltitil eelltuil cAr4R 

PHE-16 	 6 



3. ft4i * 11191 * *Ng : 	 2x5.10 

() 3Trif4 Trireq 3Tf4eir f4fiT ttiow I 

(w) Mitb-19. t 4,31 vsffi vra- 	1Prgq 

«men 

(TT) 3111111 * *mem 4 PAM, PWM 31R PPM 

	* WW1 cGiiv I PAM 4 PWM 

PPM 	474 4iAn "r+7 W4 ? 

4. f 	4 * VIA 	*NR : 	 2x5=10 

() litcicAch tgrdk 	*I WI tsfircR Iwzr 

tiO1W-di * RIR etiAch %RIR I 10 GHz 

airliW 	6 m Wff *  	f4R-

$T 	

-1-4 

fit, 

(w) tritcr4 f 	twelot 4 fiftrf FM fifl" 

-5MMq 	I 

(TT) Avg altif * 	4 LED *T *T4 tvisti§ I 

PHE-16 	 7 	 P.T.O. 



5. f4;41 	1711 	4tPAR : 	 2x5=10 

N cm-1-w 1 1:5F 

ch 1TFTF TifTr4 MK I 

(111) OSI WM TCP/IP mcill 	-41* 

Itzrte?-fit 3135ATI1* aTRreeffur wisilv 

PHE-16 
	

8 	 2,500 


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8

